
WRAP EXCESS CHAIN
AROUND STRUCTURE
AS REQUIRED

A
S

 R
E

Q
U

IR
E

D2-1/2"
(6.3cm)

SEE G-111 FOR
TYPICAL ATTACHMENT

CONCRETE TEE
ATTACHMENT

3"
(7.6cm)

WOOD BEAM
ATTACHMENT

9"
 (2

2.
9c

m
)

R

PARTS LIST
NO. QTY. DESCRIPTION

1 6 FT. CHAN000040E0 3/16" PROOF COIL CHAIN x 6'-0" LG.

2 2 HDWE012440E0 5/16" x 1-1/4" HEX HEAD TAP BOLT (FULL THREAD) (GRADE 5)

3 4 HDWE012610E0 1/4" x 7/8" HEX HEAD CAP SCREW (GRADE 5)
4 2 HDWE030130E0 5/16" LOCK NUT
5 4 HDWE030340E0 1/4" LOCK NUT
6 2 HDWE050020E0 5/16" FLATWASHER
7 1 HDWE07018000 1/2" x 3-1/4" FORGED LAG EYE BOLT
8 1 HDWE08021000 1/2" x 2-1/2" VINYL SCREW ANCHOR
9 2 ROPE00074002 SAFETY GUARD CLAMP CASTING

1/2/2013

00110000 - CLIMBING ROPE SAFETY GUARD ASSEMBLY
ROPES SPECIFICATION SHEET

G
-110


























888-277-7778    PORTER@PORTERATHLETIC.COM
c  COPYRIGHT 2012 PORTER ATHLETIC - ALL RIGHTS RESERVED

            -  00110000 

                                                                                           
PROJECT NUMBER
                                                                    
PROJECT NAME



Safety guard assembly shall consist of a 3/16" proof-coil chain (750 lb. working load), with 
hardware provisions to secure a climbing rope from building roof framing system or support 
superstructure to a secondary rope clamp. This will prevent rope from falling due to wear or 
failure of original rope clamp support hardware.

WARRANTY
Safety guard comes with a 1-year limited warranty.•

LEED R  SUBMITTAL INFORMATION

SPECIFICATIONS

Credit Measure
MRc4-Recycled 

Content Post Consumer Average 0%       Post Industrial 0%

MRc5-Regional 
Materials

Raw materials originate from multiple sources so origin point cannot be determined. Final 
Manufacturing/Assembly in Champaign, IL 61822

1/2/2013

00110000 - CLIMBING ROPE SAFETY GUARD ASSEMBLY
ROPES SPECIFICATION SHEET

G
-110


























COPYRIGHT 2012 - PORTER ATHLETIC - ALL RIGHTS RESERVED
PORTER@PORTERATHLETIC.COM

ISSUED JANUARY 2, 2013, SUBJECT TO CURRENT MANUFACTURING PROCEDURES AND CHANGES


	Page 1
	Page 2

	Text4: 
	Text5: 
	Text6: 


